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QUESTION 1

An administrator has bean directed to configure DDM using TCP/IP between two systems: "SYSTEM1" 

and "SYSTEM2". Both systems are in the site DNS. Applications on both systems require DDM access to 

files on the other system. The administrator has made sure that the Remote Database Directory has the 

*LOCAL entry configured correctly on both systems. 

What is additionally required so the communications will function correctly between the systems? 

A. Add a Remote Database Directory entry for the other system 

B. Add a host table entry for QDDMSERVER using address "LOOPBACK on each system 

C. Add a host table entry for the local system in its hosts table 

D. Change the "DDM Request Access" setting in the network attributes to QDDMSERVER 

Correct Answer: A 

 

QUESTION 2

A system administrator has just changed the password of the QSECOFR user profile. After verifying the new password
with a successful login to the operating system, the administrator attempts a login to System Service Tools with
STRSST. All Service Tools login attempts fail with the error CPF225D Requesting service tools ID password not correct.
Why is the administrator unable to login to System Service Tools with the new QSECOFR password? 

A. The Service Tools password must be set to the default value before It can be changed. 

B. The Service Tools security environment has not been configured to allow QSECOFR passwords to be synchronized. 

C. The QSECOFR user profiles for System Service Tools and IBM i are not interchangeable and passwords must be
maintainedindependently 

D. The system value QLMTSECOFR (Limit security officer device access) is set to block sharing of passwords for
QSECOFR. 

Correct Answer: A 

 

QUESTION 3

An IBM i guest LPAR is hosted by another IBM i LPAR. The administrator wants to save the virtual storage 

spaces. 

Which command is used to save the virtual storage spaces? 

A. SAVNWSSTG 
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B. SAVDLO 

C. SAVUB *NONSYS 

D. SAV 

Correct Answer: D 

 

QUESTION 4

An administrator needs to back up changes to a large physical file that is always exclusively locked by an 

application These changes need to be sent to another IBM i system. 

Which option will allow the administrator to send the changes in the least amount of time? 

A. Use the SAVCHGOBJ command to save the file to a SAVF and FTP to the other system. 

B. Use local journaling to journal file changes and save them to the other system. 

C. Use remote journaling to journal file changes to the other system. 

D. Use the SAVLIB command to save the file to a SAVF and FTP to the other system. 

Correct Answer: C 

 

QUESTION 5

What does this display from a WRKSYSSTS screen tell the administrator about the system? 

A. Temporary storage is taking up a large proportion of the disk space. 

B. A disk in the disk unit subsystem has failed or is being rebuilt. 

C. Auxiliary storage is not protected on the system. 

D. Auxiliary storage capacity has exceeded the default threshold level. 

Correct Answer: B 
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